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QUESTION 1

Which two functions have been optimized for the wide area network (WAN)? (Choose two.)
A. SUBNM

B. DBRW

C. DBSW

D. DBR

Correct Answer: BC

QUESTION 2

When should you use the DBR formula over the DBRW formula?
A. When you only want users to read the data

B. When a cell must be calculated prior to beingreferenced

C. When referencing a SUBNM formula

D. When using Active Forms

Correct Answer: B

QUESTION 3

A company wants to deploy an application of summary level data with drill through capability to the underlying
transaction detail.

Which interface should be used?
A. Active Report

B. TM1 Web

C. Cognos Insight Connected

D. Cognos InsightDisconnected

Correct Answer: B

QUESTION 4

A subset was created using the Expression Recorder. The user modified the subset.
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What is the resulting change to the subset?
A. The subset is dynamic.

B. The subset is static.

C. The subset must be renamed.

D. The subset is temporary.

Correct Answer: B

QUESTION 5

Click the Exhibit button.

Budget version 1
Unit sale price  Unit cost
Cooking Gear %031 2987 A
Lanterns 1 29,12 2114
Packs | 175.37  126.51
|| Sleeping Bags 103.831 78.01
Tents 453.41  385.04
| o Accesseries 60.68  28.37
o 598,90  345.95
Putters ' 116,07  62.55
Woods 948,91  550.10
|y —— 3200 2110 2 —
Rope 293,57 220,00
Safety 7244  48.68
(| Tools 55.95. 38.14
First Aid 11.41 8.02
| N7 2 3 |
§103.83 7
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In the cube shown in the exhibit, you need to show only the five most expensive products. The list should change
dynamically with the selection of the budget version.

How would you achieve this?

A. Create a filtered subsetfor products with the option TopSum.
B. Create a view filter with the option TopSum.

C. Create a filtered subset for products with the option TopCount,
D. Create a view filter with the option TopCount.

Correct Answer: D
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